THREFEE #\AXHI) -2t 3—IUREXF(EEERRLSE) OEFEREOREICET H1FHR

B TH=—REEVNOEERVHE

LIRBEAIK | HWREE HiARE | BREEYD | 145
(t) (t) (t) (t) (t)
41 1.86 26.15 47.43 75.44
58 1.53 41.99 5.36 48.88
618 1.60 29.26 8.95 39.81
78 1.06 29.66 2.16 32.88
8H 227 28.56 9.41 40.24
98 1.08 25.32 0.03 26.43
108 1.07 18.86 0.04 19.97
118 1.25 53.96 2.78 57.99
128 1.36 25.85 2.35 29.56
18 0.00 24.10 6.42 4.11 34.63
2R 1.34 30.29 0.55 32.18
38 0.83 29.17 0.85 30.85
&5 15.25 363.17 86.33 4.11 468.86
2 MBEOAR _ _ _ _ _ _ _ _ _ _ - _
4R 58 61 78 88 9A8 108 118 12R8 18 2R 38
e RRE 10H 15H 12H 17H 218 11H 9H 13H 118 15H 12H 11H
RROER
BEZEOBETIETH HE#xHEL-A - - - - - - - - - - - -
AEOONIFEDOHE BEORE - - - - - - - - - - - -
KT RRE 10H 15H 12H 17H 218 11H 9H 13H 118 15H 12H 11H
HAROER
BANBROETTIHE0  |HEELEHELEA = = = = = = = = = = = =
AEOONTIFEDOHE EBEORE - - - - - - - - - - - -
G RRE 10H 15H 12H 178 218 118 9H 13H 118 15H 12H 11H
RIEDFER -
MEMDOBERTIETAN HEF®EL-A = = = = = - - - - - - -
EHLN-BADKE EBEORE - - - - - - - - - - - -
BKEEDAMEHEHEED EELE 10H 158 12H 178 21H 118 98 138 118 158 12H 118
=¥ RIEDFER
PEEBEOKRICEENR |[HEEZELEA = = = = = - - - - - - -
HoN-IHEDIEE BEONE - - - - - - - - - - - -
=K AR ES RRE 3H 18 5H 3H 7H 4H 2H 68 4H 18 5H 48
RIEDFER
ELE 108 8H 128 108 148 118 98 138 118 8H 128 118
RIEDFER
ELE 178 158 198 178 218 18H 168 208 18H 158 198 188
RIEDFER
ELE 24H 22H 26H 248 28H 25H 23H 278 25H 22H 268 25H
RIEDFER
ELE - 29H = 318 - 308 - - 29H - =
RIEDFER - - - - - - - - -
RHKMERFEOMEEICRE |EEE#ECA = = = = = - - - - - - -
RABOLNIIBEDKE  [HEONE — — — — — ~ - - = - - -
X TOIRERAL Tx IRERHY
3 BRADENAE
RIEEAR WRIBIRE B EREE
BERRIL IS FRE29538318 72,600 m 39,100 m




4 KERE

(D BURIK
REEBLA 4A10H 5H 156 65 126 TH17H 8H21H 9B 11H 10H9H T1H13H | 12H11H TH15H 2R 126 3AIH
R BT HKE#EE BREHR BREHR BREHE BREHE BREHE BREHE RERR BRERR RERR RERHR BREHR BREHE
KFEAFVIRE (ph) = 5.8~8.6 7.1 7.4 7.3 7.1 6.8 7.3 7.1 7.1 7.4 7.2 6.9 7.1
FHEMEE (SS) me/2 60LLF 1K 1K 15K 15K 15K (B (B 1K (B 1K 1R 1R
LZHEREESE (COD) mg/4 LT 238 3.3 2.7 3.0 3.0 3.8 3.1 35 3.8 3.1 2.3 2.6
EYLFHEEREESE (BOD) mg/Q 60LLF 1.2 0.7 1.4 1.1 0.5k % 1.2 1.9 0.8 1.1 1.4 1.4 0.6
TBiE14> (CQ-) mg/4 - 360 230 260 210 280 240 220 280 260 300 270 260
PN 18/ cnit 300054 F 0 0 0 0 0 0 0 0 0 0 0 0
B mg/4 120 F 12 6.0 238 0.9 1.3 1.9 1.1 8.2 5.0 5.5 12 7.1
BEEE mg/4 16LLTF 0.01 0.02 - - 0.04 - - - - _ Z _
TILFILKER IEEY mg/Q BRHESNAZNIY = = - = 0.00055 i = - - - - _ _
IKEBRUTIENIKERZF Db K mg/Q 0.005L4F - - - - 0.0005% % - - - _ _ Z _
HNIARUVZ DAL E Y mg/9 0.03LLF = = = - 0.003K 5% - - - = _ - -
BRRUZDIEEY mg/4 01T - - - - 0.005K % - - - _ _ Z _
ARBEEEYD mg/9 03T = = = = RES _ Z — _ _ _ -
AEYOLIEEY mg/2 01T - - - - 0,025 % - - - - _ _ -
MERVZDIEEY mg/9 0.05LLF = = = - 0.005K 7% - - - = — Z _
TR mg/Q 03T - - - - 0.1K 5% - - - - _ _ _
RUEILETTI)L (PCB) mg/Q 0.003LL T = = = = 0.0005k i = - - = = - _
koI FLy mg/Q 01T - - - - 0.001K % - - - - - _ Z
ThSHO0aTFLY mg/4 0.1UTF = = = = 0.00055K # = = = - - - =
oynoray mg/Q 0.2LLF - - - - 0.0025 % - - - - - _ Z
(RS mg/ 0.02LLF = = = - 0.0002:K i - - - = — Z _
12-2900I4y mg/Q 0.04LLF - - - - 0.0004 3K i - - - - Z Z _
11-2/0aIFLy mg/2 1T - - - - 0.002%K% - - - - = = =
LR-12—-oHOaTFLy mg/Q 04T - - - - 0.004K % - - - - _ Z _
111-k)yonxT sy mg/2 LT - - - - 0.00055% % - - - - = - =
11,2-k)/0oxTsy mg/Q 0.06 L F - - - - 0.00065K i - - - - - Z _
13->/an7axky mg/2 0.02LLF - - - - 0.0002% % - - = = Z Z _
F7 L mg/Q 0.06LLTF - - - - 0.00063k i - - - _ _ _ Z
PES> mg/Q 0034 F - - - - 0.0003% % - - = = Z Z _
FARUAILT me/Q 02LLF - - - - 0.002K ji - - - - - _ _
A mg/2 01LLTF = - - - 0.001k% - E = = = _ Z
LLURUZDIEEY mg/Q 0.1LLF - - - - 0.002K ji - - - - _ _
14-OF %4> me/Q 05LLF - - - - 0.0055 5% - = = - - — -
IF5RRVZDIEEY mg/Q 106U F - - - - 2.0 - - - - _ _ _
SRRV ZDIEEY mg/Q 8LIF - - - = 0.08% % — — Z _ _ _ _
FTUEZT TUEZTILED, . Z _
] 200ELF - - - - 10 - - - - - - -
JILRILATHY SIkihEE mg/Q 5LLF - - - - 05%k% - _ - _ _ - _
HMEMESEE | DEYRES mg/Q 0L T - - - = 0.5 - - _ — Z _ _
Jx/—)VEERE mg/2 5L - - - - 0.015kE - - _ _ _ Z _
HatE mg/2 3LUT E E E - 001K - - = = = = Z
HINEHE mg/Q 2LLT - - - - 001k - _ _ _ _ _
BEGEEE mg/9 10LL T = = = - 0.28 — — _ — _ _ _
BEIVAVERE mg/Q 10LLF - - - - 0.03 - - - - _ Z _
JOLERE mg/Q 2L - = = = 0.025k % _ _ _ _ _ _ _
FAFFI B pg-TEQ/L 10 LT = - - - - - 0.000093
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(2) #TKCERR)

AHERLEAR _ 48108 58158 68128 78178 8H21H 98118 1089H 118138 128118 18158 28128 3f1A |
HEEE EX5 HAE(E RERBER RERBER RERBE RERBE RERBE BEHE BRERE BREHE BRERE BEHE BERE BEHER

7 ILEILIKER (A—Hg) mg/L RSN - - - - 0.0005 i# - - - = = = =
#7KER (T—Hg) mg/L 0.0005 LA F - - - - 0.00053 % - - - - - - -
AkIA(Cd) mg/L 0.003L4F - - - - 0.0003 i# - - - = = = =
1 (Pb) mg/L 001 LT - - - = 0.001K % - - - - - - -
Nffiz0.L (Cr6+) mg/L 0.05 LUF = = = - 0.005K % = = = - - - -
At (As) mg/L 001 T - - - = 0.001K % - - - - - - -
227> (CN) mg/L BRHEShZWY - - - - 0.01K% - - - - = = =
RUEILETZ=)L (PCB) mg/L BHShZNI Y - - - - 0.0005% i - - - - - - -
rJHOOTFLY meg/L 001 LI F - - - - 0.001 K5 - - - - - - -
FhSOAIFLY mg/L 001 T - - - = 0.0005 i# - - - - - - -
SHOOARY mg/L 002 LIF - - - - 0.0025% i - - - - - - =
Mg b kR mg/L 0.002 LT - - - = 0.0002K i# - - - - - - -
12->yn0x4y meg/L 0.004 LI'F - - - - 0.0004FK - - - - - = -
11->/00IFLy mg/L 01 UTF - - - = 0.0025K 5% - - - - - - -
12->/OaTFLY mg/L 004 LIF - - - - 0.004K i - - - = = = =
1.1,1-k)yoaTsy mg/L 1UF - - - - 0.0005K i# - - - - - - -
112-k)/onxTsy mg/L 0.006 LLF = = = = 0.00063F i - - - - - - -
1,3->/n07oRky mg/L 0.002 LT - - - - 0.0002K i# - - - - - - -
FI51L mg/L 0.006 LLF = = = = 0.00063F i - - - - - - -
P mg/L 0.003 LT - - - - 0.0003K i# - - - - - - -
FARD AT mg/L 0.02 LUF = = = = 0.002:K i - - - - - - -
RUEY mg/L 001 LIF - - - - 0.001% % - - - - - - -
LY mg/L 001 LIF - - - - 0.002:K i - - - = = = =
14-OAF Y mg/L 0.05 UUF - - - - 0.0055K i - - - - - - -
g%ﬁg%g%u L 10 UF - - - = 07 = = = = = - .
5% mg/L 1 UTF - - - - 0.01K# - - - - - - -
AoF mg/L 0.8 LIF = = - - 0.08K = = - - - - -
yonTFLY mg/L 0.002 LA F - - - - 0.00025 i - - - - - - -
BYVAHUEENI LHER mg/L 104 T = = = - 22 - - - - = = =
BiemAA mg/L - 6 9 6 6 5 5 10
FAFF 5 pg-TEQ/L 1UF - - - - - - - - 0.35
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(3) #TIK(TFiR)

AHERLEAR _ 48108 58158 68128 78178 8H21H 98118 1059H 118138 128118 18158 28128 3f1A |
HEEE B HAE(E RERBER RERBER RERBE RERBE BREHER BRERE BRERE BREHE BRERE BRERE BE#E BEHER
7 ILEILIKER (A—Hg) mg/L RSN - - - - 0.0005 i# - = = = = = =
#7KER (T—Hg) mg/L 0.0005 LLF - - - - 0.00055 ;¥ - - - - - - -
AkIA(Cd) mg/L 0.003L4F - - - - 0.0003 i# - - = = = = =
1 (Pb) mg/L 001 UTF - - - - 0.001 - - - - - - -
Nffiz0.L (Cr6+) mg/L 0.05 LIF = = = - 0.005K % = - - - - - -
At (As) mg/L 001 UTF - - - - 0.001K% - - - - - - -
£ 7> (CN) mg/L BRHShENIY - - - - 01K - = = = = = =
RUEILETZ=)L (PCB) mg/L BHShZNI Y - - - - 0.0005% i - - - - - - -
rJHOOTFLY meg/L 001 UUF - - - - 0.001 K5 - - - = = - -
FhSOAIFLY mg/L 001 UTF - - - - 0.00055K ;¥ - - - - - - -
BYEIEEED] mg/L 002 LIF - - - - 0.0025% i - - - - - - =
Mg b kR mg/L 0.002 LI'F - - - - 0.0002K ¥ - - - - - - -
1,2-2/aaI8> mg/L 0.004 LIF - = = = 0.0004K % = = = = = = =
11-o90aTFLy me/L 0.1 LT - - - - 0.0025K i - - - - - - -
12-2908TFLY mg/L 0.04 LIF = = = = 0.004K i = = - - - - -
11,1-k)yOaTAY mg/L 1T - - - - 0.0005% % - - - - - - -
112-k)ynoxs> mg/L 0.006 LI'F - - - - 0.0006K - - - - - - -
13->9/007ARY mg/L 0.002 LU - - - - 0.0002K i - - - - - - -
FI5L me/L 0.006 LIF - - - - 0.00065F i - - - - - - -
DA mg/L 0003 LIF - - - - 0.00035K i - - - - - - -
FAALAILT meg/L 002 LIF - - - - 0.002:K i - - - = = = =
oty mg/L 001 LUUF - - - - 0.001Ki# - - - - - - -
LY mg/L 001 LIF - - - - 0.002:K i - - - = = = =
14-OF %42 mg/L 0.05 LIF - - - - 0.005:K - - - - - - -
s LD me/L 10 LUF - - - - 04 - - - - - - .
5% mg/L 1 LT - - - - 0.11 - - - - - - -
A% mg/L 08 LT - - - - 0.12 - - - - - - -
SOoaIFLy mg/L 0.002 LA F - - - - 0.00025 i - - - - - - -
BYVAHUEENI LHER mg/L 10LLF = = = = 49 - - = = = = =
BiemAA mg/L - 38 38 51 39 42 51 41 42 41 43 38 39
FAFF 5 pg-TEQ/L 1 LT = = = = = - - - 0.064 - - —
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